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Function03 Answers for No.9004

AreaS(x)zx2
reaR=x(x+3)
3=18
4=3

_[AS: 144}
AR =180

Ansl .1 > black
.2 > blue
.3 > green
.4 > gray
.5 > yellow
.6 > red
Ans | 2 | 3 | 4 | 5 |
.2 | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) |
.3 (-infinity,0) | (-infinity,25) | (- lnflnlty, ) (-1, 1nf1n1ty) |
.4 (-8,0) | (-6,0),(4,0) | (6,0),(8,0) | (-4,0),(-2,0) |
.5 (-8,0) | (-1, 25) | (7,1) | (- 3 —1) |
.6 | Maximum | Maximum | Max1mum | Minimum |
.7 max = 0 | max = 25 | max = 1 | min = -1 |
-
A
I =[Income(x) = (7000 + 500 120 —
1 =[P(x)=(500-02x)x] [ (x)=( ) ( *)]
Ans6 = 2 =[1250.00, 312500] , Ans7 = .2 =1{17500, 49500 } , Ans8 =
N e 3=[33500, 2244500] S
L 6=
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[f(x)=3x]
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X

Function03 Answers for No.9033

Ansl .1 > black
.2 > yellow
.3 > gray
.4 > red
.5 > green
.6 > blue
ans | 2 o 3 . 4 o 5
.2 | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) |
.3 (-infinity,49) | (-=4,infinity) | (-infinity,25) | (0, 1nf1n1ty)
.4 (-8,0),(6,0) | (4,0),(8,0) | (=3,0),(7,0) | ( 0) |
.5 (-1, 49) | (6, —4) | (2, 25) | 0) |
.6 | Maximum | Minimum | Maximum | Mlnlmum |
.7 max = 49 | min = -4 | max = 25 | min = 0 |
_1=[ AreaS(x)zx2
" ldreaR=x(x+7)
3 3 1 =[Income(x) = (4000 + 500 x) (130 —x)] 3=18
Ansé:[J ‘2“: (EC6)2‘5(0500015 602';‘0’6])’“]}, Ans7 = 2= {12500, 56500} . Ans8 = 4=11
= L19=2-F 3 =[34500, 2380500] 5_[AS:9}
"~ L4R =30
L 6=[f(x)=7x]
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X

Function03 Answers for No.9237

Ansl .1 > green
.2 > gray
.3 > blue
.4 > yellow
.5 > black
.6 > red
ans | 2 o 3 . 4 o 5
.2 | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) |
.3 (0, 1nf1n1ty) | (-4, lnflnlty) | (- lnflnlty, ) (=9, infinity) |
.4 (5,0) | (=5,0), (-1,0) | (4,0),(8,0) | (-3,0),(3,0) |
.5 | (5,0) | (- 3 -4) | (6,4) | (0, -9) |
.6 | Minlmum | Minimum | Max1mum | Minimum |
.7 min = 0 | min = -4 | max = 4 | min = -9 |
_1=[ AreaS(x)=x
' AreaR=x (x+7)
3 3 1 =[Income(x)=(3000+500x) (110 —x)] .3=30
Ansé:[J ‘gpfiégéégozsgb‘:)’]c)x]}, Ans7 = 2= {8500, 49500 } . Ans8 = 4=12
B R 3 =129000, 1682000 ] 5_[AS=36}
4R =78
L 6=[f(x)=T7x]
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Function03 Answers for No.9286

Ansl .1 > green
.2 > yellow
.3 > black
.4 > gray
.5 > blue
.6 > red
ans | 2 o 3 . 4 o 5
.20 -infinity,infinity) | (-infinity,infinity) | -infinity,infinity) | -infinity,infinity) |
.3 (=106, 1nflnlty) | (0, lnflnlty) | (-infinity,1) | (=9, infinity)
.4 (-9,0), (-1,0) | (-6,0) | (-4,0), (-2,0) | (=1,0), (5,0) |
.5 | (=5, —16) | (-6,0) | (-3,1) | (2, —9) |
.6 | Minimum | Mlnlmum | Maximum | Minimum |
.7 min = -16 | min = 0 | max = 1 | min = -9 |
I ] =[ AreaS(x) = I
' AreaR=x(x+1)
B B 1 =[Income(x) = (5000 + 500 x) (80 —x)] 3=72
Ans6 = ['] _2[I:(EC5)0_0(0600015 0%‘3 ox]) x]}, Ans7 = 2= {10500, 34500} . Ans8 = 4=13
B o 3=[22500, 1012500 5_[AS:64}
4R =72
L O=[f(x)=x] i
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Function03 Answers for No.9604

X

Ansl .1 > blue
.2 > gray
.3 > red
.4 > black
.5 > yellow
.6 > green
ans | 2 o 3 . 4 o 5
.20 -infinity,infinity) | (-infinity,infinity) | -infinity,infinity) | -infinity,infinity) |
.3 (=25,infinity) | (- 1nf1n1ty, ) (-infinity,4) | (0, 1nf1n1ty)
.4 (-6,0), (4,0) | (-1,0), (3,0) | (-9,0), (-5,0) | ( 0) |
.5 | (-1, -25) | (1,4) | (=7,4) | 0) |
.6 | Minimum | Max1mum | Maximum | Mlnlmum |
.7 min = =25 | max = 4 | max = 4 | min = 0 |
I =[ AreaS(x)=x2 I
' AreaR=x (x+4)
B B I =[Income(x) = (5000 + 500 x) (80 —x)] .3=96
- e 3=[22500, 1012500] 5_[/15:144}
T l4r=192
L 6=[f(x)=4x]
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X

Function03 Answers for No.9635

Ansl .1 > green
.2 > gray
.3 > black
.4 > red
.5 > yellow
.6 > blue
ans | 2 o 3 . 4 o 5
.2 | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) |
.3 (-infinity,0) | (- 1nf1n1ty, ) (-infinity,16) | (-=1,infinity)
.4 (8,0) | (1,0),(3,0) | (-6,0),(2,0) | (-1,0),(1,0) |
.5 | (8,0) | (2,1) | (-2, 16) | (0, -1) |
.6 | Maximum | Max1mum | Maximum | Minimum |
.7 max = 0 | max = 1 | max = 16 | min = -1 |
_1 =[ AreaS(x)zx2
' AreaR=x (x+1)
3 3 I =[Income(x) = (3000 + 500 x) (120 —x)] 3=12
Ans6=[1 —[2P£x[?2;0((1)(())0122(.)20)]c)x]}’ Ans7 = 2= {9500, 53500} . AnsS = 4=6
- LoV 3=[31500, 1984500] 5_[AS=49}
"~ L4R =56
L 6=[f(x)=x]
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Function03 Answers for No.9770

Ansl .1 > black
.2 > green
.3 > red
.4 > gray
.5 > blue
.6 > yellow
ans | 2 o 3 . 4 o 5
2 | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) |
.3 (=9,infinity) | (-infinity,36) | (0, 1nf1n1ty) | (-infinity, 36)
.4 (2,0),(8,0) | (=3,0),(9,0) | (2,0) | (=5,0),(7,0) |
5 | (5, -9) | (3, 36) | (2,0) | (1, 36) |
6 | Minimum | Maximum | Minlmum | Maximum |
7 min = -9 | max = 36 | min = 0 | max = 36 |
_I=[ AreaS(x)=x2 I
' AreaR=x (x+4)
3 3 1 =[Income(x) = (5000 + 500 x) (90 —x)] 3=32
Ans6=['] _[ZPEX[)350(380458650)]C)X]}’ Ans7 = 2= {13500, 36500} . Ans8 = 4=13
- LoV 3 =[25000, 1250000] 5_[/15:121}
“L4R =165
L 6=[f(x)=4x]
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X

Function03 Answers for No.9799

Ansl .1 > blue
.2 > black
.3 > green
.4 > yellow
.5 > gray
.6 > red
ans | 2 o 3 . 4 o 5
.2 | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) |
.3 (-infinity,0) | (-infinity,49) | (-9, 1nf1n1ty) | (- 1nf1n1ty, )
.4 (=5,0) | (-6,0),(8,0) | (-8,0),(-2,0) | (-9,0),(=3,0) |
.5 | (=5,0) | (1, 49) | (- 5 -9) | (-6,9) |
.6 | Maximum | Maximum | Minimum | Max1mum |
.7 max = 0 | max = 49 | min = -9 | max = 9 |
i =[ AreaS(x)zx2
AreaR =x (x +4)
3 3 I =[Income(x) = (6000 + 500 x) (120 —x)] 3 =165
Anséz{z_[2P£x[)2g0((1)80122(.)20;]c)x]}’ Ans7 = 2= {11500, 54500} . AnsS = 4=5
- LoV 3=[33000, 2178000] 5_[AS=16}
T 4R =32
L 6=[f(x)=4x]

[Page

0008]

}_

),0:9:9,0:9:9.0:9:9.0:9:9.0:9:9.0:9:9,0:9.:9.0:9.:9,0:9:9.0:9:9.0:9:9,0:9:9.0:9.:9.0:9:9.0,9:9.0,9:9.0,9:9.0:9:9,0:9:9.0:0:9.0.9:9.0,9:9.0,9:9.0:9:9.0:9:9.0,9.:9.0,0:9.0,9:9.0,9:9.0:9:9.0.9.:9.0,0.:9.0,0:¢



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXKXXXXXXXKXXXKXXXXXXXKX XKL XKLL KKXL XKL XKL LKL KKK LXK LXK KKK KKK X KKKKKKKKKMS /2-6300402-00009XX

X

Function03 Answers for No.9824

Ansl .1 > black
.2 > yellow
.3 > red
.4 > green
.5 > gray
.6 > blue
ans | 2 o 3 . 4 o 5
.2 | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) |
.3 (0, 1nflnlty) | (-=4,infinity) | (=9,infinity) | (-infinity,16)
.4 (-9,0) | (=3,0),(1,0) | (2,0),(8,0) | (-8,0),(0,0) |
.5 (-9,0) | (-1, —4) | (5, -9) | (-4, 16)
.6 | Mlnlmum | Minimum | Minimum | Maximum |
.7 min = 0 | min = -4 | min = -9 | max = 16 |
_1=[ AreaS(x)=x
' AreaR=x (x+7)
3 3 1 =[Income(x) = (6000 + 300 x) (130 —x)] .3=120
Ansé:[‘]‘[ZPE"[)ng((z)gozsggg’]c)x]}, Ans7 = 2= {11700, 33300} . Ans8 = 4=12
- e 3=[22500, 1687500] 5_[AS:121}
4R =198
L 6=[f(x)=T7x]

[Page 0009]

}_

),0:9:9,0:9:9.0:9:9.0:9:9.0:9:9.0:9:9,0:9.:9.0:9.:9,0:9:9.0:9:9.0:9:9,0:9:9.0:9.:9.0:9:9.0,9:9.0,9:9.0,9:9.0:9:9,0:9:9.0:0:9.0.9:9.0,9:9.0,9:9.0:9:9.0:9:9.0,9.:9.0,0:9.0,9:9.0,9:9.0:9:9.0.9.:9.0,0.:9.0,0:¢



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXKXXXXXXXKXXXXXXXXXXKX XXX XXX XKLL XKL LKL KKK XKL LXK LXK KKK KKK K KKKKKKKKKMS /2-6300402-00010XX

X

Function03 Answers for No.9853

Ansl .1 > yellow
.2 > black
.3 > red
.4 > green
.5 > gray
.6 > blue
ans | 2 o 3 . 1 o s
.2 | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) |
.3 (-1,infinity) | (- 1nf1n1ty, ) (0, 1nf1n1ty) | (=25,infinity)
-4 (5,0), (7,0) | (20)( 0) | (4,0) | (-4,0), (6,0) |
B (6, -1) | (=1,1) | (4,0) | (1, -25) |
.6 | Minimum | Max1mum | Minlmum | Minimum |
.7 min = -1 | max = 1 | min = 0 | min = =25 |
| ] =[ AreaS(x)=x"
" |AreaR=x (x+38)
B B I =[Income(x) = (4000 + 200 x) (80 —x)] 3=48
Ans6=|:'] _[ZPEX[)1;2(§201 45576’]“)"]}, Ans7 = 2= {8000, 12000 } . Ans8 = 4-10
SR 3=[10000, 500000] 5_[/15:121}
7 LAR =209
L 6=[f(x)=8x]
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Function03 Answers for No.9936

Ansl .1 > yellow
.2 > blue
.3 > black
.4 > gray
.5 > red
.6 > green
ans | 2 o 3 . 4 o 5
.2 | (-infinity,infinity) | (-infinity,infinity) | infinity,infinity) | -infinity,infinity) |
.3 (=25,infinity) | (=49,infinity) | (-infinity,0) | (-infinity,16)
.4 (-2,0),(8,0) | (=5,0),(9,0) | (7,0) | (-6,0),(2,0) |
.5 | (3, -25) | (2, -49) | (7,0) | (-2, 16) |
.6 | Minimum | Minimum | Maximum | Maximum |
.7 min = =25 | min = -49 | max = 0 | max = 16 |
_1=[ AreaS(x)zx2 }_
' AreaR = x (x + 8)
3 3 I =[Income(x) = (4000 + 500 x) (100 —x)] .3 =180
Ans6=[1 - Z[Ii (81‘6(6570010 401'27’6])"]}, Ans7 = 2= {12000, 42000} , Ans8 = 4=4
TN 3=[27000, 1458000] 5_[AS=49}
4R =105
L 6=[f(x)=8x] _
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Function03 Answers for No.10029

Ansl .1 > black
.2 > blue
.3 > gray
.4 > yellow
.5 > green
.6 > red
ans | 2 o 3 . 4 o 5
.2 | (-infinity,infinity) | (-infinity,infinity) | infinity,infinity) | -infinity,infinity) |
.3 (-infinity,36) | (-16,infinity) | (-infinity,0) | (- 1nf1n1ty, )
.4 (-8,0), (4,0) | (-=3,0),(5,0) | (-2,0) | (0,0), ( 0) |
.5 (-2, 36) | (1, -16) | (-2,0) | 1) |
.6 | Maximum | Minimum | Maximum | Max1mum |
.7 max = 36 | min = -16 | max = 0 | max = 1 |
_1=[ AreaS(x)zx2 }_
' AreaR=x (x+1)
3 3 I =[Income(x) = (3000 + 300 x) (120 —x)] 3=30
Ans6=[1 - Z[Ii (EC§7_5(0700030602?()X])X]}’ Ans7 = 2= {9600, 29400} . AnsS = 4=3
S e 3=[19500, 1267500] 5_[AS=25}
4R =30
L O=[f(x)=x] i
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X

Function03 Answers for No.11015

Ansl .1 > gray
.2 > red
.3 > black
.4 > blue
.5 > green
.6 > yellow
ans | 2 o 3 . 4 o 5
.20 -infinity,infinity) | (-infinity,infinity) | -infinity,infinity) | -infinity,infinity) |
.3 (0, 1nflnlty) | (-16,infinity) | (-1, 1nf1n1ty) | (-infinity,49)
.4 (-3,0) | (-=3,0),(5,0) | (-4,0),(-2,0) | (=7,0),(7,0) |
.5 (=3,0) | (1, —16) | (- 3 -1) | (0, 49) |
.6 | Mlnlmum | Minimum | Minimum | Maximum |
.7 min = 0 | min = -16 | min = -1 | max = 49 |
i =[ AreaS(x)=x2
" lAreaR=x(x+9)
3 3 1 =[Income(x) = (3000 + 300 x) (90 —x)] .3=220
Ans6=['] _2[3(?;0_0(07000245%8 Ox])x]}, Ans7 = 2= {9300, 20700} . Ans8 = 4=3
- L 3 =[15000, 750000] 5_[AS=81}
~ AR =162
L 6=[f(x)=9x]
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X

Function03 Answers for No.11124

Ansl .1 > gray
.2 > black
.3 > blue
.4 > red
.5 > green
.6 > yellow
ans | 2 o 3 . 4 o 5
.2 | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) |
.3 (-infinity,0) | (- 1nf1n1ty, ) (-infinity,16) | (-1, 1nf1n1ty)
.4 (7,0) | (-2,0), (4,0) | (=7,0),(1,0) | (=7,0),(=5,0) |
.5 | (7,0) | (1,9) | (-3, 16) | (- 6 -1) |
.6 | Maximum | Max1mum | Maximum | Minimum |
.7 max = 0 | max = 9 | max = 16 | min = -1 |
I ] =[ AreaS(x)zx2
' AreaR =x (x +5)
3 3 1 =[Income(x)= (3000 + 500 x) (100 —x)] .3=104
Ansé:[J ‘2“: (?5)02)(05000125%3096]))6]}’ Ans7 = 2= {14000, 39000} . Ans8 = 4=7
= LOVEEY 3=[26500, 1404500] 5_[AS=25}
"~ AR =50
L 6=[f(x)=5x]
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Function03 Answers for No.11785

Ansl .1 > blue
.2 > yellow
.3 > black
.4 > green
.5 > red
.6 > gray
ans | 2 o 3 . 4 o 5
.2 | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) |
.3 (-infinity,64) | (0, lnflnlty) | (=25,infinity) | (- 1nf1n1ty, )
.4 (=7,0),(9,0) | (4,0) | (=7,0),(3,0) | (-8,0), (-6,0) |
.5 (1, 64) | (4,0) | (-2, —25) | (=7,1) |
.6 | Maximum | Minlmum | Minimum | Max1mum |
.7 max = 64 | min = 0 | min = -25 | max = 1 |
_I=[ AreaS(x)=x I
' AreaR=x (x+11)
B B I =[Income(x) = (6000 + 300 x) (130 —x)] .3=126
Ans6=['] _2[I:(EC5)0_0(0600015 O%SOX])X]}, Ans7 = 2= {9600, 35400} . Ans8 = 4=3
- LOVEE 3=[22500, 16875001 5_[AS:100}
4R =210
L 6=[f(x)=11x] |
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Function03 Answers for No.11787

X

Ansl .1 > green
.2 > gray
.3 > black
.4 > red
.5 > yellow
.6 > blue
ans | 2 o 3 . 4 o 5
.2 | (-infinity,infinity) | (-infinity,infinity) | -infinity,infinity) | -infinity,infinity) |
.3 (-infinity,0) | (- 1nf1n1ty, ) (-infinity,1) | (=25,infinity)
.4 (=5,0) | (1,0),(3,0) | (-6,0), (-4,0) | (-8,0),(2,0) |
.5 | (=5,0) | (2,1) | (=5,1) | (-3, —25) |
.6 | Maximum | Max1mum | Maximum | Minimum |
.7 max = 0 | max = 1 | max = 1 | min = =25 |
i =[ AreaS(x) = I
" |AreaR=x (x+3)
B B 1 =[Income(x) = (3000 + 300 x) (90 —x)] 3=4
Ans6 = ['] - [ZPE"[ )1;2(52014356’]“ ) x]}, Ans7 = 2= {7800, 22200} . AnsS = 4=4
St 3 =[15000, 750000] s [AS: 25}
~TL4R =40
L 6=[f(x)=3x]
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X

Function03 Answers for No.11852

Ansl .1 > green
.2 > red
.3 > blue
.4 > gray
.5 > black
.6 > yellow
ans | 2 o 3 . 4 o 5
.2 | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) |
.30 (-1,infinity) | (-infinity, 49) | (- lnflnlty, ) | -infinity,0)
.4 (-2,0),(0,0) | (-6,0),(8,0) | (3,0),(7,0) | (1,0) |
.5 (-1, —1) | (1, 49) | (5,4) | (1,0)
.6 | Minimum | Maximum | Max1mum | Maximum |
.7 min = -1 | max = 49 | max = 4 | max = 0 |
i =[ AreaS(x)zx2
AreaR=(x+2)x
3 3 I =[Income(x) = (6000 + 600 x) (110 —x)] 3=15
Ansé{']_[prjc[za()((l)gozsgblo?x]}’ Ans7 = 2= {15000, 57000} . Ans8 = 4=12
B R 3 =1[36000, 2160000 ] 5_[AS:49}
4R =63
L 6=[f(x)=2x]
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Function03 Answers for No.11898

Ansl .1 > yellow
.2 > blue
.3 > gray
.4 > green
.5 > black
.6 > red
ans | 2 o 3 . 4 o 5
.2 | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) |
.3 (-infinity,36) | (- 1nf1n1ty, ) (-infinity,0) | (=25,infinity)
.4 (=7,0),(5,0) | (0,0), (6,0) | (-2,0) | (=5,0),(5,0) |
.5 (-1, 36) | (3,9) | (-2,0) | (0, -25) |
.6 | Maximum | Max1mum | Maximum | Minimum |
.7 max = 36 | max = 9 | max = 0 | min = =25 |
_I=[ AreaS(x)zx2 I
' AreaR=x (x+11)
~ ~ 1 = [Income(x) = (4000 + 400 x) (120 — x)] 3=380
Anm:["‘2[5’(["1;0((7)30615"52033x]}, Ans7 = .2=1{10800, 41200 } , Ans8 = 4=8
- s 3 =[26000, 1690000] 5_[AS=25}
"~ AR =280
L o=[f(x)=11x] |
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Function03 Answers for No.11909

Ansl .1 > yellow
.2 > gray
.3 > black
.4 > green
.5 > red
.6 > blue
ans | 2 o 3 . 4 o 5
.2 | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) |
.3 (-infinity,0) | (- 1nf1n1ty, ) (=36,infinity) | (- 1nf1n1ty, )
.4 (2,0) | (40)( 0) | (=7,0),(5,0) | (=5,0),(=3,0) |
.5 | (2,0) | (=2,4) | (-1, -36) | (-4,1) |
.6 | Maximum | Max1mum | Minimum | Max1mum |
.7 max = 0 | max = 4 | min = -36 | max = 1 |
_I=[ AreaS(x)zx2 I
' AreaR=x (x+11)
~ ~ 1 = [Income(x) = (4000 + 200 x) (120 — x)] 3=126
Ans6=['] ‘[ZPE’“[)ng((3)80372660’]C)x]}, Ans7 = .2 = {8000, 20000} . Ans8 = 4=10
- LR 3 =[14000, 980000 5_[AS=64}
4R =152
L 6=[f(x)=11x] |

X [Page = 0019] XXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKKKXXXKXKXKXXXKKKXKXXXKKKKXXKKKKXKXKKKX KKK KKK KX KKKKX KX KKK KKK KKK KX KKKK KX KKKKKX



X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXXXXXX XXX XXX XXX XXX XXX KKK KKK KKK KKK KKK KKK KKK KKK KKK XXX KKK KKK XKXXKXKKXMS/2-6300402-00020XX
Function03 Answers for No.11944

Ansl .1 > black
.2 > blue
.3 > red
.4 > gray
.5 > yellow
.6 > green
ans | 2 o 3 . 4 o 5
.2 | (-infinity,infinity) | (-infinity,infinity) | -infinity,infinity) | -infinity,infinity) |
.3 (- 1nf1nlty, ) (=25,infinity) | (0, 1nf1n1ty) | (=64, infinity)
.4 (3,0),(5,0) | (=3,0),(7,0) | (7,0) | (=7,0),(9,0) |
.5 | (4,1) | (2, -25) | (7,0) | (1, -64) |
.6 | MaXLmum | Minimum | Minlmum | Minimum |
.7 max = 1 | min = =25 | min = 0 | min = -64 |
_I=[ AreaS(x)=x2 I
© |AdreaR=x(x+17)
3 3 1 =[Income(x) = (7000 + 500 x) (80 —x)] .3=98
Ans6=[']‘[g(f)[g3(;(3)0412'76]x)x]}, Ans7 = 2= {13000, 34000} . Ans8 = 4=6
= 19222 3=[23500, 1104500] 5_[/15:144}
4R =228
L o=[f(x)=Tx]

00201
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Function03 Answers for No.11961

Ansl .1 > green
.2 > red
.3 > yellow
.4 > black
.5 > blue
.6 > gray
ans | 2 o 3 . 4 o 5
.2 | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) |
.3 (- 1nf1nlty, ) (=49,infinity) | (-=16,infinity) | (-infinity, 0)
.4 (=5,0), (-1,0) | (-8,0),(6,0) | (1,0),(9,0) | (-2,0) |
.5 (=3,4) | (-1, —49) | (5, —16) | (-2,0) |
.6 | MaXLmum | Minimum | Minimum | Maximum |
.7 max = 4 | min = -49 | min = -16 | max = 0 |
_I=[ AreaS(x)=x2 I
" |AreaR=x(x+5)
B B 1 =[Income(x) = (6000 + 300 x) (70 —x)] 3=6
Ans6=['] ‘Z[E([xl)zgo(ggo“g'szog;x]}, Ans7 = 2= {10500, 16500} . Ans8 = 4=4
- A 3=[13500, 607500] 5_[AS:49}
4R =84
L o=[f(x)=5x]
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X

Function03 Answers for No.11966

Ansl .1 > blue
.2 > black
.3 > red
.4 > yellow
.5 > green
.6 > gray
ans | 2 o 3 . 4 o 5
.20 -infinity,infinity) | (-infinity,infinity) | -infinity,infinity) | -infinity,infinity) |
.3 (-=4,infinity) | (- 1nf1n1ty, ) (-infinity,16) | (=9, infinity)
.4 (1,0),(5,0) | (4,0) | (-8,0),(0,0) | (2,0),(8,0) |
.5 | (3, -4) | (4,0) | (-4, 16) | (5, -9) |
.6 | Minimum | Max1mum | Maximum | Minimum |
.7 min = -4 | max = 0 | max = 16 | min = -9 |
_I=[ AreaS(x)=x"
" lAreaR=x(x+9)
B B 1 =[Income(x) = (6000 + 200 x) (90 —x)] .3=190
Ans6=['] _2[I:(EC5)0_0(0600015 O%SOX])X]}, Ans7 = 2= {9200, 14800 . Ans8 = 4=12
- LR 3 =[12000, 720000] 5_[AS=36}
4R =90
L .6=[f(x)=9x]
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Function03 Answers for No.12024

Ansl .1 > black
.2 > gray
.3 > green
.4 > red
.5 > blue
.6 > yellow
ans | 2 o 3 . 4 o 5
.2 | (-infinity,infinity) | (-infinity,infinity) | infinity,infinity) | -infinity,infinity) |
.3 (- 1nf1nlty, ) (-1,infinity) | (-infinity,0) | (-infinity,49) |
.4 (-8,0),(-2,0) | (1,0),(3,0) | (-9,0) | (=5,0),(9,0) |
.5 (-5,9) | (2, —1) | (-9,0) | (2, 49)
.6 | MaXLmum | Minimum | Maximum | Maximum |
.7 max = 9 | min = -1 | max = 0 | max = 49 |
_1=[ AreaS(x)zx2 }_
' AreaR=x (x+7)
3 3 1 =[Income(x)= (3000 + 500 x) (100 —x)] .3=60
Ansé:[J ‘2“: (?205(0600018 O%gox])x]}, Ans7 = 2= {9000, 44000} . Ans8 = 4=10
= LDV, 3=[26500, 1404500] 5_[AS=49}
= L4R =98
L 6=[f(x)=Tx] |
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Function03 Answers for No.12045

Ansl .1 > yellow
.2 > black
.3 > green
.4 > blue
.5 > gray
.6 > red
ans | 2 o 3 . 4 o 5
.2 | (-infinity,infinity) | (-infinity,infinity) | -infinity,infinity) | -infinity,infinity) |
.3 (0, 1nf1n1ty) | (-16,infinity) | (-infinity,4) | (- 1nf1n1ty, )
.4 (-4,0) | (-6,0),(2,0) | (=7,0),(=3,0) | (3,0), ( 0) |
.5 | (-4,0) | (-2, -16) | (=5,4) | 1) |
.6 | Mlnlmum | Minimum | Maximum | Max1mum |
.7 min = 0 | min = -16 | max = 4 | max = 1 |
_1=[ AreaS(x)zx2 }_
' AreaR =x (x +3)
3 3 1 =[Income(x) = (4000 + 500 x) (100 —x)] 3 =108
Ansé:[J ‘E ([’61)7;0((7)80612'5208’6]}, Ans7 = 2= {9500, 44500} . Ans8= 4-3
- Rk 3 =[27000, 1458000] 5_[AS=36}
4R =54
L 6=[f(x)=3x]
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Function03 Answers for No.12623

Ansl .1 > blue
.2 > yellow
.3 > green
.4 > gray
.5 > red
.6 > black
ans | 2 o 3 . 1 o s
2 | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) |
.3 (-1,infinity) | (- 1nf1n1ty, ) (-=16,infinity) | (0, 1nf1n1ty)
-4 (3,0),(5,0) | (=7,0), (=3,0) | (=4,0), (4,0) | (=7,0) |
S5 | (4, —1) | (=5,4) | (0, —16) | (=7,0) |
6 | Minimum | Max1mum | Minimum | Mlnlmum |
7 min = -1 | max = 4 | min = -16 | min = 0 |
_I=[ AreaS(x)=x2 I
' AreaR =(x+2)x
B B I =[Income(x) = (4000 + 500 x) (70 —x)] 3=99
Ans6=['] _[2P£x[)1g6(§201 62'667’]‘)’“]}, Ans7 = 2= {14000, 25000} . AnsS = 4=13
—L2PO-04 3=[19500, 760500] 5_[AS=169}
4R =195
L 6=[f(x)=2x]
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Function03 Answers for No.12915

Ansl .1 > blue
.2 > gray
.3 > green
.4 > yellow
.5 > red
.6 > black
ans | 2 o 3 . 4 o 5
.2 | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) |
.3 (=25,infinity) | (0, lnflnlty) | (-infinity,25) | (=25,infinity)
.4 (=5,0),(5,0) | (-8,0) | (-4,0),(6,0) | (-8,0),(2,0) |
.5 | (0, -25) | (-8,0) | (1, 25) | (-3, -25) |
.6 | Minimum | Mlnlmum | Maximum | Minimum |
.7 min = =25 | min = 0 | max = 25 | min = =25 |
_1=[ AreaS(x)zx2 }_
' AreaR =(x+2)x
3 3 1 =[Income(x) = (4000 + 500 x) (100 —x)] 3=8
Ansé:[J ‘Z[f ([);)'550((3)8022261()896]}’ Ans7 = 2= {12000, 42000} . Ans8 = 4=12
- o 3 =[27000, 1458000] 5_[AS=16}
"~ AR =24
L 6=[f(x)=2x]
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X

Function03 Answers for No.13089

Ansl .1 > blue
.2 > red
.3 > black
.4 > yellow
.5 > gray
.6 > green
ans | 2 o 3 . 4 o 5
.2 | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) |
.3 (-infinity,0) | (-infinity,36) | (-=16,infinity) | (-infinity,16)
.4 (-4,0) | (=7,0),(5,0) | (-4,0),(4,0) | (1,0),(9,0) |
.5 (-4,0) | (-1, 36) | (0, -16) | (5, 16) |
.6 | Maximum | Maximum | Minimum | Maximum |
.7 max = 0 | max = 36 | min = -16 | max = 16 |
I =[ AreaS(x)zx2
' AreaR =x (x +5)
3 3 1 =[Income(x) = (4000+500x) (110 —x)] 3=84
Ans6=[1 ‘gpfi)lgézgomgéi’]c)x]}, Ans7 = 2= {12000, 47000 } . Ans8 = 4=3
— L9004 3=[29500, 1740500] 5_[AS:100}
4R =150
L 6=[f(x)=5x]
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Function03 Answers for No.13101

Ansl .1 > gray
.2 > yellow
.3 > green
.4 > black
.5 > red
.6 > blue
ans | 2 o 3 . 4 o 5
2 | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) |
.3 (-1,infinity) | (-infinity,36) | (-infinity,4) | (-infinity, 0)
.4 (6,0),(8,0) | (=9,0),(3,0) | (=5,0), (-1,0) | (-6,0) |
5 (7, —1) | (-3, 36) | (-3,4) | (-6,0) |
6 | Minimum | Maximum | Maximum | Maximum |
7 min = -1 | max = 36 | max = 4 | max = 0 |
| ] =[ AreaS(x) =x I
© |AreaR=x(x+17)
B B I =[Income(x) = (4000 + 200 x) (90 —x)] 3=170
Ans6 = ['] - [ZPEX[)zgS(;‘?O 57?473’]‘ ) x]}, Ans7 = 2= {8400, 13600} . AnsS = 4=9
—Lee>d 3=[11000, 605000] s [ASz 144}
~L4R =228
L o=[f(x)=Tx]

X [Page = 0028] XXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKKXKXXXKXKXKXXXKKKXKXXKKKKXXKKKKXXXKKKX KKK KKK KKK KKKK XK KKK KKK KKK XK KKKK KX KKKKKX



D ERVERHNCIVISENED $.0:0:0.0:0:0.0:0:0.0.0:0.0.0:0.0:0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.9:0.0.0:0.0 ¢ Y FET J T oL A ZEL 0 N0 10 )22°) 0 ¢
Function03 Answers for No.13155

Ansl .1 > red
.2 > yellow
.3 > blue
.4 > gray
.5 > green
.6 > black
ans | 2 o 3 . 4 o 5
.2 | (-infinity,infinity) (-infinity,infinity) -infinity,infinity) -infinity,infinity) |
.3 (- 1nf1n1ty, ) (- 1nf1n1ty, ) (-infinity, 36) (-=64,infinity) |
.4 (2,0),(4,0) (9,0) (-9,0),(3,0) (-8,0),(8,0) |
.5 (3,1) (9,0) (=3, 36) (0, -64) |
.6 | MaXLmum Max1mum Maximum Minimum |
.7 max = 1 max = 0 max = 36 min = -64 |
_1=[ AreaS(x)zx2 }_
' AreaR =x (x +5)
3 3 1 =[Income(x) = (5000 + 500 x) (100 —x)] .3=150
Ansé:[J ‘2“: (?31‘6(6570010 401'27’6])"]}, Ans7 = 2= {13000, 42000} . AnsS = 4=6
L 3=1[27500, 1512500] 5_[AS=25}
"~ L4R =50
L 6=[f(x)=5x]
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X

Function03 Answers for No.13156

Ansl .1 > yellow
.2 > gray
.3 > green
.4 > blue
.5 > red
.6 > black
ans | 2 o 3 . 4 o 5
.2 | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) |
.30 (-25,infinity) | (-4,infinity) | (- lnflnlty, ) | -infinity,0)
.4 (=5,0),(5,0) | (=3,0),(1,0) | (0,0),(2,0) | (-1,0) |
.5 (0, —25) | (-1, —4) | (1,1) | (-1,0) |
.6 | Minimum | Minimum | Max1mum | Maximum |
.7 min = =25 | min = -4 | max = 1 | max = 0 |
| ] =[ AreaS(x) =x
' AreaR =(x+2)x
B B 1 =[Income(x) = (3000 + 300 x) (90 —x)] 3=3
Ans6=['] ‘2[?(?37‘5(0700030 602'20’6])’“]}, Ans7 = 2= {8700, 21300} . Ans8 = 4=6
— Lo/ 3 =[15000, 750000] 5_[AS:9}
T 4R =15
L 6=[f(x)=2x]

[Page 0030]

}_

),0:9:9,0:9:9.0:9:9.0:9:9.0:9:9.0:9:9,0:9.:9.0:9.:9,0:9:9.0:9:9.0:9:9,0:9:9.0:9.:9.0:9:9.0,9:9.0,9:9.0,9:9.0:9:9,0:9:9.0:0:9.0.9:9.0,9:9.0,9:9.0:9:9.0:9:9.0,9.:9.0,0:9.0,9:9.0,9:9.0:9:9.0.9.:9.0,0.:9.0,0:¢



D ERVERHNCIVISENED $.0:0:0.0:0:0.0.0:0.0.0:0.0.0:0.0:0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0 ¢ LY FEI I T oL A 2RI N0 [0 JC 1 D 06
Function03 Answers for No.13158

Ansl .1 > gray
.2 > red
.3 > blue
.4 > black
.5 > green
.6 > yellow
ans | 2 o 3 . 4 o 5
.2 | (-infinity,infinity) | (-infinity,infinity) | -infinity,infinity) | -infinity,infinity) |
.3 (- 1nf1n1ty, ) (- 1nf1n1ty, ) (-infinity,1) | (=16, infinity) |
.4 (=7,0), (=3,0) | (-8,0) | (-6,0), (-4,0) | (=5,0), (3,0) |
.5 (=5,4) | (-8,0) | (=5,1) | (-1, —16) |
.6 | MaXLmum | Max1mum | Maximum | Minimum |
.7 max = 4 | max = 0 | max = 1 | min = =16 |
I ] =[ AreaS(x) =x }_
' AreaR =x (x +3)
3 3 1 =[Income(x) = (4000 + 500 x) (100 —x)] 3=10
Ans6 = [1 ‘E ([x1)2go( (5)8031 2'5203 ; x]}, Ans7 = 2= {12000, 42000} . Ans8 = 4=7
- has 3 =[27000, 1458000] s [ASz 16}
4R =128
L 6=[f(x)=3x]
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Function03 Answers for No.13203

Ansl .1 > red
.2 > yellow
.3 > blue
.4 > black
.5 > gray
.6 > green
ans | 2 o 3 . 4 o 5
.2 | (-infinity,infinity) | (-infinity,infinity) | infinity,infinity) | -infinity,infinity) |
.3 (-infinity,64) | (=36,infinity) | (-infinity,0) | (- 1nf1n1ty, )
.4 (=9,0),(7,0) | (-4,0),(8,0) | (8,0) | (30)( 0) |
.5 (-1, 64) | (2, —36) | (8,0) | (=1,4) |
.6 | Maximum | Minimum | Maximum | Max1mum |
.7 max = 64 | min = -36 | max = 0 | max = 4 |
_1=[ AreaS(x)zx2 }_
' AreaR=x (x+9)
3 3 1 =[Income(x) = (6000 + 500 x) (100 —x)] .3=190
Ansé:[J ‘2“: (?7)5_()(06()00225%30)6]))6]}’ Ans7 = 2= {15000, 41000} . Ans8 = 4=6
- LV 3 =[28000, 1568000] 5_[AS=169}
4R =286
L 6=[f(x)=9x]
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Function03 Answers for No.13469

AreaS(x) =x
reaR=x (x+4)
3 =140

4=8

_[AS=81}
“LAR=117

Ansl .1 > black
.2 > red
.3 > yellow
.4 > blue
.5 > green
.6 > gray
Ans | 2 | 3 | 4 | 5 |
.2 | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) |
.3 (- 1nf1n1ty, ) (0, lnflnlty) | (-infinity,36) | (=4, infinity) |
-4 (50)( 0) | (=7,0) | (-8,0),(4,0) | (3,0),(7,0) |
-5 (=2,9) | (=7,0) | (-2, 36) | (5, -4) |
.6 | MaXLmum | Mlnlmum | Maximum | Minimum |
.7 max = 9 | min = 0 | max = 36 | min = -4 |
o
A
1 =[Income(x) = (6000 + 200 90 —
1 =[P(x)=(500-0.3x)x] [ (x)=( *¥) (90 =x)]
Ans6 = 2 =[833.33,208333] , Ans7 = 2 = {8400, 15600 } , Ans8 =
B T 3 =[12000, 720000 ] 5
L 6=

[Page

0033]

),0:9:9,0:9:9.0:9:9.0:9:9.0:9:9.0:9:9,0:9.:9.0:9.:9,0:9:9.0:9:9.0:9:9,0:9:9.0:9.:9.0:9:9.0,9:9.0,9:9.0,9:9.0:9:9,0:9:9.0:0:9.0.9:9.0,9:9.0,9:9.0:9:9.0:9:9.0,9.:9.0,0:9.0,9:9.0,9:9.0:9:9.0.9.:9.0,0.:9.0,0:¢

[f(x)=4x]
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